Industrial Belt Drive
Telescoping Door

Installation Instructions

0.
Horton

G206, OCT 99 AUTOMATICS



1. Instructions to INStaller...........oooooiiii e G206.1
2. General reqUIrEMENTS. ......ccuiiiiiiiieeee e G206.1
3. TraCK lOCALION.......ciiiiiieeee e G206.2
4. SPIICE. .. G206.2
5. Door hanger removal...........ccccoeeeiiiiiiiiii e G206.3
6. HEader MOUNL........eiiiiiiiiiiieiiee e G206.3
7. Wire guide / weather Strip mount.............ccccciiiiiiiiiiiieeeeeeeeeeeen G206.4
8. Mount hangers to door panels..........cooooiiiiiiiiiiiiieeeeeee e G206.4
9. Mount door PANEIS.........coooiiiiiiiiiii G206.5
10. Cable connections & door alignment..............cevvvviiiiiiieinnnnnnnnnnns G206.6
11. Belt CONNECHION.......uuiiiiiiiiiiiiee e G206.7
12, Track alignmeNnt...........uuuiiiiiiiiiieieiee e G206.7
13. Autolock & close monitor SWILCh...........cooooviiiiiiiiiiiieeeeecee G206.8
LA, COVE ...t G206.8
15, EXPIOAEA VIBW......uiiiiiiiiiiiiiiieeee e G206.9
16. Activation and adjuStmENtS. ..........cueviiiiiiiiiiiieie e G206.10

CONTENTS

2.148d



G206.1

INDUSTRIAL TELESCOPING DOOR
INSTALLATION INSTRUCTIONS
1. INSTRUCTIONS TO INSTALLER

*This door is to be installed by a trained and experienced AAADM certified installer with knowledge of local codes and
ANSI A156.10 standards for power operated doors.

*To ensure safe and proper operation, the door must be installed and adjusted to conform to Horton Automatics
recommendations, all code requirements and ANSI A156.10.

«If there are any questions about these instructions, call Horton Automatics Technical Assistance.

INFORMATION TO BE PROVIDED BY THE DISTRIBUTOR TO THE OWNER

After installation instruct the owner on the safe operation of the door.

*Present the Owners Manual M300 and explain how to perform the daily safety check.
Location of power on / off switch.

*Necessary warnings not covered in these general instructions.

*Date equipment shipped from Horton Automatics.

«Date equipment placed in service.

*Horton Automatics' invoice number for warranty reference.

*Equipment type.

*Accessories included.

*Phone number to call regarding problems or request for service.

*Give caution to owner: if a potentially hazardous situation is suspected, the door should be taken out of automatic
service untill a professional inspection is made and the problem is corrected.

2. GENERAL REQUIREMENTS

*Power: 120 VAC, 60Hz, 15 Amp service (in conduit) to the header of each unit.

*Non-North American voltages can be 240 VAC, if so be sure the operator has a 240VAC power supply.

*For remote switch locations, routing of low voltage class Il wiring (in conduit) to the operator controls will be required.
*Remote switch locations should be predetermined and wired before installation begins.

*The opening must be plumb and level, including the threshold and track area.

*Provisions should be made for a recessed floor track.

«Additional support must be provided in the wall at the header mounting area.

*Door panels may be glazed before or after installation.

RECOMMENDED MINIMUM MOUNTING REQUIREMENTS

Mounting hole

locations 1 1/8"(28)Shim Steel mount Wood mount Concrete mount‘
} =
6 7/8" A ay N /A ] ay \\\/!\ ]
(175) 338"
(86) C6x10.5 5/16" bolts with
Hilte anchors
Line AT e INNANED |
— ]
2-1 [ L
(51
1.3/4"1- 5/16" Through bolts
Open  (444) See secton 3 for withnuts and washers
height recess location and

i size
= | i | See section 6 for typical fastnerspacing

| HEADER WIDTH |

| rate) POWER INPUT
—— - 26N y_ e LOCATION™SN . .
,,,,,,,, o

AREA REQUIRING ADDITIONAL /
SUPPORT FOR THE UNIT

UNIT HEIGHT
OPENING HEIGHT

FLOOR SHOULD BE LEVEL IN TH
AREA OF THE RECESSED TRACK

OPENING WIDTH
! ! 2.130d




G206.2
3. TRACK LOCATION

*The recess should be located as per the position of the door panels.
*The header and door panels should be mounted before the track is put in to position.

q_;Of opening
\
[ ]
11/8"(28) ‘ Track recess area ‘
Shim ! (Same length as header) ‘
= = a8
| bﬁ = =0 |
Q| Bl )
UL/ARTADS ip
¥
1st Step [T
The recess should be — | | =
located as per the shim ] |
size at the header and A
the position of the door |
panels. [ B— 2nd Step
Place the track in the recess .Do
not grout at this time.The door
panels can be used to align the
track.
Finished Floor
11/4"(32) i
C T T 7
[>T >
1(51/44)" e 2 3/16" (55)
- (9 4 3/16"(106)
5 1/2" (140)
4. SPLICE

For large openings the header is shipped in 2 sections. They will require splicing.

¢ Of header splice
1st Step - P

Slide the splice tapping plates a
and the inner bar splice into the

header slots. Autolock mounting holes

——

I

2nd Step %\
Place the two header sections I“‘

together and position the center
line of the tapping plates and
inner bar splice at the center
line of the header.

3rd Step
Tighten all fasteners

2.139d



G206.3
5.D0O0OR HANGER REMOVAL

Before the header is mounted the hangers should be removed and mounted on the door panels. Mark the left and right
hangers so they can be remounted in the same position.

1st Step

Position hanger brackets in the Q Of header
closed position as shown

Cable = v
connection / ﬁg Wfégj
Cable G/

,_J —
007
2nd Step
Remove the 5/16" HHMB from

the cable connection at both fast
door brackets.

3rd Step Loosen the height adjustment
Remove the three #10 socket cap screw before removing or
s screws from the cable clamp at installing hanger bolt:
e ~\«a@ both slow door hanger brackets.
q_ Of header
4th Step NOTE: take care
Remove the 3/8" HHMB securing not to loose the spacer

the fast door and the slow door
hanger brackets. A

Iaggtrslow Right fast

door
5/16" x 3" HH lag bolts
6.HEADER MOUNT (supplied)
NOTE: Through bolts
and backup plates may

Wood blocking,steel channel or through bolts

and backup plates are recommended at the 4" (102) to 6" (152)

mounting area. from the end be required for some
) . Approx. 12" (305 applications.
11/8" (28) shim Ty%)lcal spacsng )
" % Header
e ey & asa
. I A A
e g
= N The header may be predrilled
©| ® for mounting bolts.
| ™ Opening
© i height
|
-
Qv
&
Opening width
= i f
S - NOTE: ” ; ,
2 The C268 tube may be installed before FOSIltlondheader 2" above the opening,
c the header and used as a mounting guide. evel and secure.
e See section 7
o]

2.140d



7. WIRE GUIDE / WEATHER STRIP MOUNT

G206.4

Mount the wire guide / weather strip tubes before the door panels are installed.

Position tube

under the cable clam
OR

Notch the C383 tube I

r C383 =

T
a S
—
s

)

8. MOUNT HANGERS TO DOOR PANELS

1/2"-13x 1"
button HSCS
(4 per panel)

SLOW DOOR

Drill access holes as required to
install C383 filler tube.

beam wires.
1 - Drill & csk for #10

screws as required.

4 - Secure with
#10 screws.

1/2" - 13 x 1"
button HSCS
(4 per panel)

FAST DOOR

4 31/2" Opening
NS c383
[“ SSS o C383
§ Wire guide
= -
<~  sSsSS S
/) \
C268
C9425/ C296
C268 Weatherstripping between Intfertlocbk &m
interlock channels. fabe Yy bea
Adjust to fit space upe.
> /
/i— Door lap at - Mouhting
openin ] f
‘; Opening detail
2 - Drill 5/16" holes in
wall & insert #10
3 - Install safety plastic anchors.

2.141d1



G206.5
9. MOUNTING DOOR PANELS

W

\_/7
%
- Tilt door panels ino place

j and secure to wheel assembly

Place bottom guide

in track Mount to lower
NOTE: wheel carriages
Mounting position of the hanger brackets-

left and right are NOT the same.

8 3/4" (222)
typical each side

3/8" - 16 x 3/4" HHMB

3/8" washer Note hole positions
SLOW DOOR MOUNT used on each wheel

assembly

S
(€.
g
e,

SHE=

/" | RIGHT

3/8"- 16 x 1 1/2" HHMB |
3/8" washer

FAST DOOR MOUNT LEFT

2.142d



G206.6
10. CABLE CONNECTION & DOOR ALIGNMENT

Lap at opening

1st Step

Place fast door lead edge at
center line of opening.

) () () ¢«
s \ T ]
" Bottomedge End of slow gggrliltaoniast
- of header & track  door ( lead rail) p Cablepully
- . 1\
el S S G W L W G ) N I N P
‘ R ) \ | || : P:ri ] ! \ ‘ | ]|
//_}1:‘1:? Slow door —T i\
lelf)le Heel rail of J t J \
pully fastdoor | \\
Cableclamp at " "
access window | 8 3/4"Overhangof slow Fast door
5 1/2" (140) Lap ( wide stile door hanger bracket
4 1/4" (108) Lap ( med stile

NOTE:
2nd Step

Move slow door into position
where its lead rail overlaps the
fast door as shown.

3rd Step

Position the cable to fast door
clamp as shown and secure.

[
° o

)

Slow door

Access
window

For wide stile doors:
141/4" Overlap between
fast and slow door hangers.
Use 13"for med stile.

Cableclamp
Cable base

#10 - 24 x 1/2" BHMB

4th Step

Attach the cable with the cable clamp
to the cable base as shown.

6th Step

Adjust the bumpers to the proper
location if necessary.

5/16"
5/16"

Doors must be placed and held in
position shown for proper cable
connections and door alignment.

N
,/

: -:

" x 3/4" HHMB
" washer

s Y

Fast door

5th Step

Move the fast door to the open
position - the slow door will move
at half speed and arrive at full
open position at the same time.

2.143d



G206.7
11. BELT CONNECTION

*Place the door in the closed position and aligned with the centerline of the header.
*The RIGHT HAND DOOR ATTACHES TO THE LOWER BELT.
*The LEFT HAND DOOR ATTACHES TO THE UPPER BELT.

Header

3rd Step
Position the belt so the holes lineup
with the bolts in the clamp.

Tighten the bolts.

Closed monitor
2nd Step switch striker.
Place the belt around the motor ~ (@dustable)
pully and the idler pully.

Locate the splice at the right hand

lower belt clamp. \
1st Step

Set belt tension adjustment
to allow for maximum tightening

BELT SPLICE
LOCATION

Tighten the belt.

NOTE: do not tighten the belt more
than is required to prevent it from
slipping at the motor pully.

12. TRACK ALIGNMENT

After the door panels are installed the track
may be aligned with the bottom door guides.

Grout in around the track

Finished floor

2.144d



G206.8
13. AUTOLOCK & CLOSE MONITOR SWITCH

If the Autolock did not come installed on the unit, follow the instructions below.

¢ Header

(@'J

©©

< \ s
= .
W/

Adjustable close monitor
switch striker

~

Close monitor switch

To C2150 (CN2)
terminal strip

1st Step

Secure the Autolock to the
holes provided in the splice
plate with (2) 3/8" bolts .

TO GET OPERATOR UP AND RUNNING
REFER TO 2001 FIELD QUICK START
& QUESTIONS & ANSWERS FOR THE
C2150 MICROPROCESSOR CONTROL
# H603

14. COVER

Mount with
3/8" x 3/4" SQHMB

2.145d



SN

C5777
Bracket

End Cap
C5771

ase

5
H <=
i\gu'\\\\\\\g a
—
a

]

o 9654
C5787

2
C9654
C5787

C2528

C5756
Fast Door

Left Hand Door

C5056

C5786
5753 C5763
C7044 Cable Assembly Sl
Anti-Rise Wheel & C3681-2 ] i =
Adjustment Pl e 6068
J C3681-2 e ‘} Pully
)= . . C8129 —
In Closed Position Cable Clamp Will ' @ <y C824
Align with Access Window at Oppposite N

End of C5757
C5754 /
° ‘l/ “@,,, 2 C5056
"7

~C5786 C5757 — ~
Slow Door N cs Lower Belt G%C
< ) ~ - - ‘1 C5056 | g
8 3/4" (222) | (78 /
C5755 . X To C2150 / o
C7098 Autolock Keeper V

~ Typical / 1 s »
~__ Fachsie st U csrr /e SE—T —— y o

~ C6437 gy = =

~ C9263 51 To C2150
~ ca04 ong)

C5766

~

Fast Door

~
\
\\_/

C5762
Closed Monitor

Mounting Slots For
Wide Stile Doors

Switch Tri Upper Adaptor I
Bracket P ( Door to Hangers) RI g ht Han d DOO r
$ 2 Per Panel
C5761
C2106-1
5 Closed Monitor
3 m&ﬂmch. 5759
Lower Adaptor

Optional Switch for.

Door i
Alarm Contacts ( Door to Guide)

Nt
/ 2 Per Panel
To C2150 (cn2)

Terminal Strip

15. EXPLODED VIEW

5760
Lower Guide
Typ. Ea. End
of Door.

2.146d
C3665



G206.10
16. ACTIVATION and ADJUSTMENTS

See G2001, 2001installation instructions (sections 10, 11 & 12) for safety beams and motion detectors.

. Horton Automatics, Itd.
21:%4:2 E;acl:%vrvg Boulevard Unit A, Hortonwood 31
pu ISt Telford, Shropshire
| Texas 78405-3399
England TFI-4GS
800-531-3111
01952 670169
Hnnun P S0 S31.3108 361-898-6510 Fax: 0192 670181
ax. o-osl- s International Telephone++44-1952 -670169
AUTOMATICS Internet: http://www.hortondoors.com Fax: ++44-1952-670181

A Division ofOverheadDoor Corporation

Form G206, 10/99
1998 Horton Automatics, printed in U.S.A.

Product equipment depicted in the various figure drawings are approximate and for illustration purposes only. Consult
manufacturer for detail product specifications. Horton Automatics reserves the right to improve the product and change its
specifications without notice.

2.149d



